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QUESTION 1

Identify three true statements about defining actions In Oracle Alert. (Choose three.) 

A. An alert can contain only one Action Set. 

B. An alert can contain any number of Action Sets. 

C. When multiple actions are defined they must be included In an Action Set. 

D. Oracle Alert waits for user response before executing next action in an Action Set. 

E. When multiple actions are defined, they do not need to be included in an Action Set. 

F. Oracle Alert does not wait for user response before executing next action in an Action Set 

Correct Answer: BCF 

 

QUESTION 2

The Copy Lot Attributes checkbox is enabled at the organization item level. Which two statements are true? (Choose
two.) 

A. This feature is specific to child lots. 

B. This feature is specific to parent lots. 

C. Lot attributes are copied between child lots. 

D. Parent lot inherits the lot attributes of the child. 

E. Child lots inherit the attributes of the parent lot. 

F. Lot attributes are copied from parent to parent lot. 

G. The feature is applicable to both child and parent lots. 

H. Lot attributes are copied from the child to the parent lot. 

Correct Answer: AE 

 

QUESTION 3

Your customer is interested in implementing revision control for the finished goods model items. Which two
requirements can be met by implementing revision control? (Choose two.) 

A. Changing model functionality when on-hand quantity is available 

B. Tracking design changes in other modules (BOM, Work in Process) with a different model number 

C. Scrapping the old model and introducing a new model which has changes in functionality and features 
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D. Accommodating a slight design change in the model, where functionality and features remain the same 

E. Tracking design changes in all other functions, such as Bill of Materials, Routings, Work in Process, and so on, using
the same model number 

Correct Answer: DE 

 

QUESTION 4

You receive a request to create a new responsibility for US Payables Manager. The request states that the new
responsibility should have access to all menu items except Invoice Payments. 

Identify two options that you would use to restrict the Invoice Payments option on the new US Payables Manager
responsibility. (Choose two.) 

A. Remove the request group from the new US Payables Manager responsibility. 

B. Create a Menu Exclusion for Invoice Payments on the US Payables Manager responsibility. 

C. Create an Item Exclusion for Invoice Payments on the US Payables Manager responsibility. 

D. Create a Security Attribute for Invoice Payments on the US Payables Manager responsibility. 

E. Create a new menu excluding the Invoice Payments option and attach the new menu to the responsibility. 

Correct Answer: BE 

 

QUESTION 5

ABC Inc. added a new Operating Unit to Its existing Multi-Org Access-enabled responsibility. When users logged in
using their existing responsibility, they could not see the new Operating Unit in the fist of values. 

What could be the cause? 

A. Security List Maintenance was not run. 

B. The Set MO: Operating Unit profile was not defined. 

C. The Set Multi-Org Preferences profile was not defined. 

D. The Set MO: Default Operating Unit profile was not defined. 

E. The Set MO: Security profile was not defined for the responsibility. 

Correct Answer: A 
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